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L.O T can answer arithmetic questions accurately and at speed.

Year 3

How many pence in £40?
954 - 852 =

501 - 248-=

75 x4 =

8 x8-=
__+2H9:=346
987 -_____ =65
8 x12 =
£10.00-£9.02=
£5.00+£10.03=

How many pounds in 100p?

__x7=21
4 x 25 =

Year 4

How many minutes in 6 hours?
2189 + 3459=

4516 - 1205 =

896 x 4 =

12 x11=

___ +1253=4966
8565 - ___ =4101
_ x12-=144
3201 - ___ =1091
___xb=80

6 x 400-=

85 divided by 4=
37 divided by 4=
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ANSWERS

Year 3

How many pence in £40? 4000p
954 - 852 = 102

501 - 248= 253

75 x 4 = 300

8 x8=64

87 + 259 = 346

987 - 922 = 65

8 x12=96

£10.00-£9.02= £0.98
£5.00+£10.03= £15.03

How many pounds in 100p? £1
3x7=21

4 x 25 = 100

Year 4

How many minutes in 6 hours? 360
2189 + 3459= 5648
4516 - 1205 = 3311
896 x 4 = 3584

12 x 11 =132

3713 + 1253 = 4966
8565 - 4464 = 4101
12 x 12 = 144

3201 - 2110 =1091

16 x5 =80

6 x 400= 2400

85 divided by 4= 21 r1
37 divided by 4= 9 r1
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